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Q 1. पाँच-अंको की एक संख््या ली जाती है। पहली चार 
संख््याओं का ्योग (इकाई स््थान पर की संख््या को 
छोड़कर) सभी पाँच अंकों क े ्योग क े बराबर है। 
ननम्ननलनित मेें से कौन इस संख््या को आवश््यक रूप से 
नवभानजत नहीं करेगा?

(a) 10                          
(b) 2                      
(c) 4                           
(d) 5

Q 2. एक संख््या 15B, 6 स े नवभाज््य है। धन पूर्ाांक B क े
नलए इनमेें स ेकौन सत््य होगा 

(a) B एक सम संख््यया ह ै    
(b) B एक विषम संख््यया ह ै 
(c) B 6 स ेविभयाज््य होगया   
(d) (a) और (c) दोनोों

Q 3. ननम्ननलनित मेें स े कौन सी संख््या 24 से नवभाज््य हो 
सकती ह?ै                                                                 

(a) 43215604            
(b) 2561284        
(c) 1362480             
(d) इनोमें स ेकोई नोहीं 

Q 4. नकसी संख््या को 88 से नवभाज््य होन ेक ेनलए, इस ेहोना 
चानहए   

(a) 22 और 8 स ेविभयाज््य                  
(b) 11 और 8 स ेविभयाज््य                                                                                                                          
(c) 11 स ेविभयाज््य और 2 स ेतीनो बयार 
(d) उपरोक्त सभी 

Q 5. दो अंकों की सबस े बड़ी संभानवत संख््या कौन सी ह ै
नजसस े2179782 को नवभानजत नक्या जा सकता ह?ै

(a) 88                     
(b) 50                     
(c) 66                   
(d) 99

Q 1. A five-digit number is taken. Sum of the 
first four digits (excluding the number 
at the unit’s digit) equals the sum of all 
the five digits. Which of the following 
will not divide this number necessarily? 

(a) 10 
(b) 2 
(c) 4 
(d) 5 

Q 2. A number 15B is divisible by 6. Which of these 
will be true about the positive integer B? 

(a) B will be even 
(b) B will be odd 
(c) B will be divisible by 6 
(d) Both (a) an (c)

Q 3. Which of the following can be a number 
divisible by 24? 

(a) 43215604 
(b) 2561284 
(c) 1362480 
(d) None of these 

Q 4. For a number to be divisible by 88, it 
should be 

(a) Divisible by 22 and 8 
(b) Divisible by 11 and 8 
(c) Divisible by 11 and thrice by 2 
(d) All of these 

Q 5. What is the largest possible two digit 
number by which 2179782 can be divided? 

(a) 88 
(b) 50 
(c) 66 
(d) 99 

संख््या पद्धनत NUMBER SYSTEM
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Q 6.  ्यनद k35624 नवभाज््य ह ै11 से तो k का मेान क््या ह?ै   

(a) 2                        
(b) 5                        
(c) 7                    
(d) 6

Q 7. ्यनद 42573k नवभाज््य ह ै72 स ेतो k का मेान ह:ै

(a) 4
(b) 5                        
(c) 6                    
(d) 7

Q 8. समेुच्च्य S ={200, 201, 202 ..... 800} मेें नकतनी 
संख््याए ँहैं, जो 5 ्या 7 से नवभाज््य ह?ै

(a) 210                    
(b) 190                   
(c) 199                
(d) इनोमें स ेकोई नोहीं 

Q 9. समेुच्च्य S ={200, 201, 202 ..... 800} मेें नकतनी 
संख््या्यें हैं जो न तो 5 और न ही 7 से नवभाज््य ह?ै                                                                                                                

(a) 411                 
(b) 412                     
(c) 410               
(d) इनोमें स ेकोई नोहीं

Q 10. नकसी संख््या को 5 स े नवभानजत करन े पर शेषफल 4 
बचता ह,ै जब उस संख््या क ेदोगुन ेको 5 से नवभानजत 
नक्या जाता ह ैतो शेषफल होगा:

(a) 1                     
(b) 2                         
(c) 3                    
(d) 4

Q 6. The value of k if k35624 is divisible by 11 

(a) 2 
(b) 5 
(c) 7 
(d) 6 

Q 7. If 42573k is divisible by 72 then the value of k is 

(a) 4 
(b) 5 
(c) 6 
(d) 7 

Q 8. How many numbers are there in the set S 
={200, 201, 202 ..... 800} which are divisible 
by 5 or by 7? 
(a) 210 
(b) 190 
(c) 199 
(d) None of these 

Q 9. How many numbers are there in the set S 
={200, 201, 202 ..... 800} which are not 
divisible by either 5 or by 7? 
(a) 411 
(b) 412 
(c) 410 
(d) None of these 

Q 10. A number when divided by 5 leaves a 
remainder of 4, when the twice of that 
number is divided by 5 the remainder will be : 

(a) 1 
(b) 2 
(c) 3
(d) 4 
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Q 11. जब हमे एक दो-अंको की एक ननश्श्चत संख््या को इसक े
अंको क े ्योग से गुर्ा करत े हैं तो, 405 प्ाप्त होता है। 
्यनद हमे समेान अंकों क े नवपरीत क्रमे मेें नलिी गई 
संख््या को इसक ेअंकों क े्योग स ेगुर्ा करत ेहैं, तो हमेें 
486 प्ाप्त होता है। संख््या ज्ात कीनजए ।

(a) 81                  
(b) 45                     
(c) 36                  
(d) 54

Q 12. व््यंजक 256251 + 36528 + 7354 का इकाई अंक ज्ात 
कीनजए। 

(a) 4                    
(b) 0                       
(c) 6                    
(d) 5

Q 13. व््यंजक 55725 + 735810 + 22853 मेें इकाई स््थान का अंक 
ज्ात कीनजए।                                                                                                                                  

(a) 4                   
(b) 0                       
(c) 6                    
(d) 5

Q 14. (9106 + 1) को 8 से नवभानजत करन ेपर प्ाप्त शेषफल 
नकतना होगा?                                                                                                                                        

(a) 0                   
(b) 3                       
(c) 7                    
(d) 2

Q 15. (9106 - 5) को 5 स ेनवभानजत करन ेपर प्ाप्त शेषफल 
नकतना होगा?                                                                                                                                                         

(a) 0                   
(b) 4                      
(c) 7                    
(d) 2  

Q 11. When we multiply a certain two-digit 
number by the sum of its digits, 405 is achieve. 
If we multiply the number written in reverse 
order of the same digits by the sum of the 
digits, we get 486. Find the number. 

(a) 81 
(b) 45 
(c) 36 
(d) 54 

Q 12. Find the unit’s digit of the expression 
256251 + 36528 + 7354 

(a) 4 
(b) 0 
(c) 6 
(d) 5

Q 13. Find the unit’s digit of the expression 
55725 + 735810 + 22853 

(a) 4 
(b) 0 
(c) 6 
(d) 5 

Q 14. What will be the remainder obtained 
when (9106 + 1) will be divided by 8? 

(a) 0 
(b) 3 
(c) 7 
(d) 2 

Q 15. What will be the remainder obtained 
when (9106- 5) will be divided by 8? 

(a) 0 
(b) 4 
(c) 7 
(d) 2 
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Q 16. 21000 को 3 स े नवभानजत करन े पर प्ाप्त शेषफल ज्ात 
कीनजए।                                                                                                                               

(a) 1                  
(b) 2                      
(c) 4                    
(d) 0

Q 17. 1000 से बड़ी नकसी संख््या क े वग्ग जो 3 स े नवभाज््य 
नहीं ह,ै को 3 से नवभानजत करन ेपर प्ाप्त शेषफल:

(a) हमेशया 1 है      
(b) हमेशया 2 ह ै       
(c) 0                    
(d) इनोमें स ेकोई नोहीं 

Q 18. 636/215 का शेषफल नकतना ह?ै

(a) 0                  
(b) 1                     
(c) 2                   
(d) इनोमें स ेकोई नोहीं 

Q 19. ्यनद a = 0.1818181818…….. और b = 
0.303003000300003…….. तो (a+b) है

(a) एक पररमे्य संख््यया       
(b) एक पूर््ण िग्ण         
(c) एक अपररमे्य संख््यया        
(d) इनोमें स ेकोई नोहीं 

Q 20. (1 – 1/2) (1 – 1/3 ) (1 – 1/4 ) (1 – 1/5 ) ……...
(1 – 1/n ) का मेान ह:ै                                                                               

(a) 1                 
(b) (1 – 1/n)n       
(c) 1/n           
(d) इनोमें स ेकोई नोहीं

Q 21. व््यंजक 1×2×3×………………..×1000 क े अंत मेें शून््यों की संख््या 
ह:ै 

(a) 248            
(b) 249        
(c) 240           
(d) इनोमें स ेकोई नोहीं

Q 16. Find the remainder of 21000 when divided 
by 3? 

(a) 1 
(b) 2 
(c) 4 
(d) 0 

Q 17. The square of a number greater than 
1000 which is not divisible by 3 , when 
divided by 3, leaves a remainder of 
(a) 1 
(b) always 2 
(c) always 0 
(d) None of these 

Q 18. What is the remainder of 636/215? 

(a) 0 
(b) 1 
(c) 2 
(d) None of these 

Q 19. If a = 0.1818181818…….. and b = 
0.303003000300003……  then (a+B)=

(a) A is a rational no. 
(b) a perfect square 
(c) an irrational no. 
(d) None of these 

Q 20. The value of (1 – 1/2) (1 – 1/3 ) (1 – 1/4 ) 
(1 – 1/5 ) ……....(1 – 1/n ) is : 

(a) 1 
(b) (1 – 1/n)n 
(c) 1/n 
(d) None of these 

Q 21. The number of zeros at the end of the 
expression 1×2×3×………………..×1000 is 

(a) 248 
(b) 249 
(c) 240 
(d) None of these 
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Q 22. वह न््यूनतमे संख््या ज्ात कीनजए नजससे 30492 को 
गुर्ा ्या नवभानजत नकए जाने पर ्यह एक पूर््ग वग्ग 
बन जाए।                                                                                                                                

(a) 11               
(b) 7                      
(c) 3                
(d) 2

Q 23. तीन आमे, चार अमेरूद, और पांच तरबूज की कीमेत 
750 रुप्य ेहैं। दस तरबूज, छः आमे और नौ अमेरूद की 
कीमेत 1580 रुप्य े हैं। छः आमे, दस तरबूज और चार 
अमेरूद की कीमेत नकतनी ह?ै

(a) 1280           
(b) 1180             
(c) 1080           
(d) वनोर्या्णररत नोहीं वक्यया जया सकतया 

Q 24. एक स्ककूल मेें 576 लड़क ेऔर 448 लड़नक्या ँहैं नजन्हें 
अकेल े लड़कों ्या लड़नक्यों क े बराबर अनुभागों मेें 
नवभानजत नक्या जाना है। इस प्कार बन ेअनुभागों की 
न््यूनतमे संख््या ज्ात कीनजए। 

(a) 24               
(b) 32                
(c) 16                
(d) इनोमें स ेकोई नोहीं

Q 25. चार घंनि्या ँ 6, 8,12 और 18 सेकंड क े अंतराल पर 
बजती हैं। व े12 बज ेएक सा्थ बजन ेलगत ेहैं। अगल े12 
नमेनि क ेदौरान व ेनकतनी बार एक सा्थ बजेंगी? 

(a) 9                
(b) 10                
(c) 11                
(d) 12

Q 22. Find the least number by which 30492 
must be multiplied or divided so as to 
make it a perfect square. 

(a) 11 
(b) 7 
(c) 3 
(d) 2 

Q 23. Three mangoes, four guavas and five 
watermelons cost Rs.750. Ten watermelons, 
six mangoes and nine guavas cost Rs.1580. 
What is the cost of six mangoes, ten 
watermelons and four guavas? 
(a) 1280 
(b) 1180 
(c) 1080 
(d) can’t be determined 

Q 24. There are 576 boys and 448 girls in a school 
that are to be divided into equal sections of 
either boys or girls alone. Find the 
minimum number of sections thus formed?

(a) 24 
(b) 32 
(c) 16 
(d) None of these 

Q 25. Four bells ring at the intervals of 6,8,12 
and 18 seconds. They start ringing together 
at 12 o’ clock. How many times will they 
ring together during the next 12 minutes? 
(a) 9 
(b) 10 
(c) 11 
(d) 12
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Q 26. एक संख््या मेें तीन अंक होते हैं नजनमेें से बीच वाला 
शून््य है और उनका ्योग 4 है। ्यनद पहले और अंनतमे 
अंक को आपस मेें बदलने से बनी संख््या उस संख््या 
से 198 अनधक है, तो पहली और अंनतमे अंक क ेबीच 
का अंतर है   UPSC PT 2018

(a) 1                 
(b) 2               
(c) 3                    
(d) 4

Q 27. 700 स े1000 तक की सभी संख््याओं को नलित ेसमे्य 
ऐसी नकतनी संख््याए ँआती हैं नजनमेें सैकड़़े क ेस््थान का 
अंक दहाई क ेस््थान क ेअंक से अनधक होता ह ैत्था दहाई 
क े स््थान का अंक इकाई क े स््थान क े अंक से अनधक 
होता ह?ै UPSC PT 2018                                                                                                                

(a) 61               
(b) 64             
(c) 85                  
(d) 91 

Q 28. 2-अंकों की कुछ ननश्श्चत संख््याए ँहैं। संख््या और उसक े
अंकों को उलिन े पर प्ाप्त संख््या क े बीच का अंतर 
हमेेशा 27 होता है। ऐसी अनधकतमे 2 अंकों वाली 
संख््याए ँनकतनी हैं? UPSC PT 2017                              

(a) 3                 
(b) 4               
(c) 5                   
(d) इनोमें स ेकोई नोहीं                                           

Q 29. ्यनद 150 पृष््ठोों वाली पुस्तक को 1 स े150 तक क्रमेांनकत 
नक्या जाए तो मेुनरित अंकों की कुल संख््या नकतनी ह?ै

UPSC PT 2017            
(a) 262              
(b) 342             
(c) 360              
(d) 450

Q 26. A number consists of three digits of which the 
middle one is zero and their sum is 4. If the 
number formed by interchanging the first 
and last digit is greater than the number 
itself by 198, then the difference between the 
first and last digit is  UPSC PT 2018 
(a) 1 
(b) 2 
(c) 3 
(d) 4 

Q 27. While writing all the numbers from 700 to 
1000, how many numbers occur in which the 
digit at hundreds place is greater than the 
digit at ten’s place, and digit at the ten’s place 
is greater than the digit at unit’s place? 

UPSC PT 2018 
(a) 61 
(b) 64 
(c) 85 
(d) 91 

Q 28. There are certain 2-digit numbers. The 
difference between the number and the one 
obtained on reversing it is always 27. How many 
such maximum 2-digit numbers are there? 

UPSC PT 2017 
(a) 3 
(b) 4 
(c) 5 
(d) None of these 

Q 29. What is the total number of digits printed, 
if a book containing 150 pages is to be 
numbered from 1 to 150?  UPSC PT 2017 

(a) 262 
(b) 342 
(c) 360 
(d) 450 
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Q 30. एक कॉलेज मेें 5 हॉबी क्लब - फोिोग्ाफी, नौका्यन, 
शतरंज, इलेक्ट्ॉननक्स और बागवानी हैं । बागवानी 
समेूह हर दूसरे नदन नमेलते हैं, इलेक्ट्ॉननक्स समेूह हर 
तीसरे नदन नमेलते हैं, शतरंज समेूह हर चौ्थे नदन 
नमेलते हैं, नौका्यन समेूह हर पांचवें नदन नमेलते हैं और 
फोिोग्ाफी समेूह हर छ्ठो़े नदन नमेलते हैं। 180 नदनों क े
भीतर सभी पांच समेूह एक ही नदन मेें नकतनी बार 
नमेलते हैं?  UPSC PT 2013, 2016

(a) 5                  
(b) 18                
(c) 10                 
(d) 3                          

Q 31. नीच ेदो क्थन S1 और S2 नदए गए हैं नजनक ेबाद एक 
प्श्न ह:ै                                                                   

S1: n एक अभयाज््य संख््यया है।
S2: n को 4 स ेविभयावजत करनो ेपर शेषफल 1 बचतया है। 
Question: ्यवद 10 और 20 बीच n एक अवविती्य प्याकृत 
संख््यया ह,ै तो n क््यया ह?ै

उपरोक्त क्थन और प्श्न क ेसंबंध मेें ननम्ननलनित मेें से 
कौन-सा/से सही ह?ै        UPSC PT 2020                                                                                     

(a) S1 अकेल ेप्श्न कया उत्तर देनो ेके वलए प्यया्णप्त है।                                                                                                      
(b) S2 अकेल ेप्श्न कया उत्तर देनो ेके वलए प्यया्णप्त है।                                                                                                                           
(c) S1 और S2 वमलकर प्श्न कया उत्तर देनो ेक ेवलए प्यया्णप्त 

हैं, लेवकनो नो तो S1 अकेल ेऔर नो ही S2 अकेल ेप्श्न 
कया उत्तर देनो ेके वलए प्यया्णप्त हैं।                                                                                                             

(d) S1 और S2 एक सयाथ प्श्न कया उत्तर देनो ेके वलए प्यया्णप्त 
नोहीं हैं। 

Q 32. ननम्ननलनित गुर्नफल क ेअंत मेें नकतन ेशून््य हैं? 

1 x 5 x 10 x 15 x 20 x 25 x 30 x 35 x 40 x 45 x 
50 x 55 x 60                     UPSC PT 2020  

(a) 10             
(b) 12             
(c) 14             
(d) 15

Q 30. There are 5 hobby clubs in a college  
photography, yachting, chess, electronics and 
gardening. The gardening group meets every 
second day, the electronics group meets every 
third day, the chess group meets every fourth 
day, the yachting group meets every fifth day 
and the photography group meets every sixth 
day. How many times do all the five groups 
meet on the same day within 180 days? 

UPSC PT 2013, 2016 
(a) 5 
(b) 18 
(c) 10 
(d) 3 

Q 31. Two Statements S1 and S2 are given 
below followed by a Question: 

S1 : n is a prime number. 
S2 : n leaves a remainder of 1 when divided by 4. 
Question: If n is a unique natural number 
between 10 and 20, then what is n? 

Which one of the following is correct in respect 
of the above Statements and the Question? 

UPSC PT 2020 
(a) S1 alone is sufficient to answer the Question. 
(b) S2 alone is sufficient to answer the Question. 
(c) S1 and S2 together are sufficient to answer 

the Question, but neither S1 alone nor S2 
alone is sufficient to answer the Question 

(d) S1 and S2 together are not sufficient to 
answer the Question. 

Q 32. How many zeroes are there at the end of 
the following product? 
1 x 5 x 10 x 15 x 20 x 25 x 30 x 35 x 40 x 45 x 
50 x 55 x 60          UPSC PT 2020 

(a) 10 
(b) 12 
(c) 14 
(d) 15
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Q 33. मेान लीनजए नक XYZ तीन-अंको की एक संख््या ह,ै 
जहा ँ(X + Y + Z), 3 की गुर्ज नहीं है। तो (XYZ + 
YZX + ZXY) नकसस ेनवभाज््य नहीं ह?ै                                                  

UPSC PT 2020         
(a) 3               
(b) 9                
(c) 37             
(d) (X + Y + Z)

Q 34. 1 और 100 क ेबीच ऐस ेनकतन ेपूर्ाांक हैं नजनका अंक 4 
ह ैलेनकन व े4 से नवभाज््य नहीं हैं? UPSC PT 2020       

(a) 5               
(b) 11             
(c) 12              
(d) 13

Q 35. ्योग  * + 1 * + 5 *  +  * * +  * 1 = 1 * *  मेें प्तीक  *  के स््थान 
पर कौन-सा अकं आएगा            UPSC PT 2020  

(a) 2              
(b) 3             
(c) 4              
(d) 5

Q 36. मेान लीनजए A3BC त्था DE2F चार-अंकों की 
संख््याए ं हैं जहा ँ प्त््येक अक्षर 3 से बड़ी अल-अलग 
अंकों को ननरुनपत करत े हैं। ्यनद संख््याओं का ्योग 
15902 ह,ै तो A और D क े मेान क े बीच का अन्तर 
नकतना ह?ै UPSC PT 2020    

(a) 1             
(b) 2              
(c) 3             
(d) 4

Q 37. नीच ेदो क्थन S1 और S2 नदए गए हैं नजनक ेबाद एक 
प्श्न ह:ै 

S1: 51 पृष््ठ की पुस्तक के वकसी भी पृष््ठ पर दो स ेअवर्क 
आकृवत्यया ँनोहीं हैं।
S2: प्त््येक पृष््ठ पर कम स ेकम एक आकृवत है।

Q 33. Let XYZ be a three-digit number, where 
(X + Y + Z) is not a multiple of 3. Then 
(XYZ + YZX + ZXY) is not divisible by 

UPSC PT 2020 
(a) 3 
(b) 9 
(c) 37 
(d) (X + Y + Z) 

Q 34. How many integers are there between 1 and 
100 which have 4 as a digit but are not 
divisible by 4?  UPSC PT 2020 
(a) 5 
(b) 11 
(c) 12 
(d) 13 

Q 35. In the sum * + 1 * + 5 *  +  * * +  * 1 = 1 * * for 
which digit does the symbol *  stand?  

UPSC PT 2020 
(a) 2 
(b) 3 
(c) 4 
(d) 5 

Q 36. Let A3BC and DE2F be four-digit numbers 
where each letter represents a different digit 
greater than 3. If the sum of the numbers is 
15902, then what is the difference between 
the values of A and D?  UPSC PT 2020 

(a) 1 
(b) 2 
(c) 3 
(d) 4 

Q 37. Two statements S1 and S2 are given 
below followed by a Question: 

S1 : There are not more than two figures on 
any page of a 51-page book. 
S2 : There is at least one figure on every page. 
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Question: क््या उस पुस्तक मेें 100 से अनधक 
आकृनत्या ँ हैं? उपरोक्त क्थन और प्श्न क े संबंध मेें 
ननम्ननलनित मेें स ेकौन-सा सही ह?ै     UPSC PT 2020                               

(a) S1 और S2 दोनोों ही प्श्न कया उत्तर देनो ेके वलए प्यया्णप्त 
हैं, लेवकनो नो तो S1 अकेल ेऔर नो ही S2 अकेल ेप्श्न 
कया उत्तर देनो ेके वलए प्यया्णप्त है। 

(b) S1 अकेल ेप्श्न कया उत्तर देनो ेके वलए प्यया्णप्त है। 
(c) S1 और S2 एक सयाथ प्श्न कया उत्तर देनो ेप्यया्णप्त हैं। 
(d) S2 अकेल ेप्श्न कया उत्तर देनो ेके वलए प्यया्णप्त हैं। 

Q 38. प्ाकृनतक संख््याओं क े ऐसे नकतन े जोड़़े हैं नजनक े वगगों 
का अंतर 63 ह?ै  UPSC PT 2020  

(a) 3                
(b) 4            
(c) 5              
(d) 2

Q 39. एक अंक n > 3, 3 से नवभाज््य ह ैलेनकन 6 स ेनवभाज््य 
नहीं है। ननम्ननलनित मेें से कौन 4 से नवभाज््य ह?ै 

UPSC PT 2020  
(a) 2n             
(b) 3n         
(c) 2n + 4      
(d) 3n + 1

Q 40. नद्या ग्या ह ैनक 13
2

m और 38
4 m, x क ेपूर्ाांक गुर्ज 

ह,ै तो अनधकतमे लंबाई x नकतनी ह?ै  UPSC PT 2020

(a) 
11
2   m          

(b) 11
3

m          

(c) 
11
4 m        

(d) 
31
4   m                                                   

Question: Are there more than 100 figures 
in that book? Which one of the following is 
correct in respect of the above Statements 
and the Question?          UPSC PT 2020 
(a) Both S1 and S2 are sufficient to answer 

the Question, but neither S1 alone nor 
S2 alone is sufficient to answer the Question. 

(b) S1 alone is sufficient to answer the Question. 
(c) S1 and S2 together are not sufficient to 

answer the Question. 
(d) S2 alone is sufficient to answer the Question. 

Q 38. How many pairs of natural numbers are there 
such that the difference of whose squares is 63? 

UPSC PT 2020 
(a) 3 
(b) 4 
(c) 5 
(d) 2 

Q 39. A digit n > 3 is divisible by 3 but not divisible by 6. 
Which one of the following is divisible by 4? 

UPSC PT 2020 
(a) 2n 
(b) 3n 
(c) 2n + 4 
(d) 3n + 1 

Q 40. What is the greatest length x such that  13
2

m and 38
4 m are integral multiples of x?  

UPSC PT 2020 
(a) 

11
2   m          

(b) 11
3

m          

(c) 
11
4 m        

(d) 
31
4   m    
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Q 41. चार अंकों की सबस ेछोिी संख््या कौन सी ह ैनजस े3, 4, 
5 और 6 स ेनवभानजत करन ेपर प्त््येक श्स््थनत मेें शेषफल 
2 बचता ह?ै UPSC PT 2020   

(a) 1012          
(b) 1022           
(c) 1122         
(d) 1222

Q 42. जब 51 x 27 x 35 x 62 x 75 को 100 स े नवभानजत 
नक्या जाता ह ैतो शेषफल क््या होता ह?ै UPSC PT 2020
(a) 50              
(b) 25                
(c) 5                
(d) 1                                      

Q 43. दो अंकों की प्ाकृनतक संख््या का उसक े अंकों को 
उलिने से बनी संख््या से अनुपात 4: 7 है। ऐसे ्युग्मेों 
की संख््या है UPSC PT 2019
(a) 5               
(b) 4                   
(c) 3                
(d) 2

Q 44. 8 अंकों की संख््या 4252746B को 3 से नवभानजत 
करने पर शेषफल 0 बचता है। B क  े नकतने मेान 
संभव हैं?  UPSC PT 2019
(a) 2              
(b) 3
(c) 4                 
(d) 6

Q 45. दो क्थनों S1 और S2 और उसक ेबाद नदए गए प्श्न पर 
नवचार कीनजए:  UPSC PT 2019
S1: p और q दोनोों अभयाज््य संख््ययाए ँहैं। 
S2: p + q एक विषम पूर्याांक है। 
Question: क््यया pq एक विषम पूर्याांक ह?ै 
ननम्ननलनित मेें स ेकौन सही ह?ै    
(a) S1 अकेल ेप्श्न कया उत्तर देनो ेके वलए प्यया्णप्त है।
(b) S2 अकेल ेप्श्न कया उत्तर देनो ेके वलए प्यया्णप्त है।                                                                                      
(c) दोनोों S1 और S2 एकसयाथ प्श्न कया उत्तर दनेो े के वलए 

प्यया्णप्त नोहीं ह।ै 
(d) दोनोों कथनो S1 और S2 प्श्न कया उत्तर देनो े के वलए 

प्यया्णप्त नोहीं है। 

Q 41.  What is the least four-digit number 
when divided by 3, 4, 5 and 6 leaves a 
remainder 2 in each case?  UPSC PT 2020 

(a) 1012 
(b) 1022 
(c) 1122 
(d) 1222

Q 42. What is the remainder when 51 x 27 x 35 
x 62 x 75 is divided by 100?  UPSC PT 2020 
(a) 50 
(b) 25 
(c) 5 
(d) 1 

Q 43. The ratio of a two-digit natural number to a 
number formed by reversing its digits is 4: 7. 
The number of such pairs is  UPSC PT 2019 
(a) 5 
(b) 4 
(c) 3 
(d) 2 

Q 44. An 8-digit number 4252746B leaves 
remainder 0 when divided by 3. How many 
values of B are possible?  UPSC PT 2019 
(a) 2 
(b) 3 
(c) 4 
(d) 6 

Q 45. Consider two statements S1 and S2 
followed by a question:  UPSC PT 2019
S1: p and q both are prime numbers. 
S2: p + q is an odd integer. 
Question: Is pq an odd integer? 
Which one of the following is correct? 
(a) S1 alone is sufficient to answer the question 
(b) S2 alone is sufficient to answer the question 
(c) Both S1 and S2 taken together are not 

sufficient to answer the question 
(d) Both S1 and S2 are necessary to answer 

the question 
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Q 46. संख््या 136 को 5B7 मेें जोड़ा जाता है और प्ाप्त ्योग 
7A3 है, जहाँ A और B पूर्ाांक हैं। ्यह नद्या ग्या ह ै
नक 7A3, 3 से नवभाज््य है। B का एकमेात्र संभानवत 
मेान है                           UPSC PT 2019

(a) 2              
(b) 5                  
(c) 7
(d) 8                                       

Q 47. ्यनद ABC x DEED = ABCABC; जहा ँA, B, C, D 
और E अलग-अलग अंक ह,ै D और E क ेमेान क््या हैं?                                                                                    

UPSC PT 2015                                                                                                                                  
(a) D = 2, E = 0          
(b) D = 0, E = 1         
(c) D = 1, E = 0         
(d) D = 1, E = 2

Q 48. प्त््येक 18 नमेनि पर एक घंिी बजती है। प्त््येक 24 
नमेनि मेें एक दूसरी घंिी बजती है। प्त््येक 32 नमेनि मेें 
एक तीसरी घंिी बजती है। ्यनद तीनों घंनि्या ँ सुबह 8 
बज े एक ही समे्य पर बजेंगी, तो अन््य नकस समे्य व े
सभी एक सा्थ बजेंगी? UPSC PT 2014     

(a) 12 : 40 hrs            
(b) 12 : 48 hrs           
(c) 12 : 56 hrs            
(d) 13 : 04 hrs

Q 49. पाचं व््यश्क्त क्रमेशः 6, 7, 8, 9 और 12 सकंेड के अतंराल 
पर एक लक्ष्य पर गोनल्या ंचलात ेहैं। व ेएक घिं़े मेें लक्ष्य पर 
एक सा्थ नकतनी बार गोनल्या ँचलाएगँ?े UPSC PT 2014 

(a) 6                           
(b) 7                            
(c) 8                           
(d) 9

Q 46. Number 136 is added to 5B7 and the sum 
obtained is 7A3, where A and B are integers. 
It is given that 7A3 is exactly divisible by 3. 
The only possible value of B is  UPSC PT 2019 

(a) 2 
(b) 5 
(c) 7 
(d) 8

Q 47. If ABC x DEED = ABCABC; where A, B, C, 
D and E are different digits, what are the 
values of D and E?  UPSC PT 2015 
(a) D = 2, E = 0 
(b) D = 0, E = 1 
(c) D = 1, E = 0 
(d) D = 1, E = 2 

Q 48. A bell rings every 18 minutes. A second bell 
rings every 24 minutes. A third bell rings every 
32 minutes. If all the three bells ring at the same 
time at 8 o’clock in the morning, at what other 
time will they all ring together?  UPSC PT 2014 

(a) 12 : 40 hrs 
(b) 12 : 48 hrs 
(c) 12 : 56 hrs 
(d) 13 : 04 hrs 

Q 49. Five persons fire bullets at a target at an interval 
of 6, 7, 8, 9 and 12 seconds respectively. The 
number of times they would fire the bullets 
together at the target in an hour is  UPSC PT 2014 
(a) 6 
(b) 7 
(c) 8 
(d) 9 
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Q 50. तीन व््यश्क्त एक सा्थ चलना शुरू करते हैं और उनक े
कदमे की मेाप क्रमेशः 40 सेमेी, 42 सेमेी और 45 
सेमेी हैं। प्त््येक को न््यूनतमे नकतनी दूरी त्य करनी 
चानहए तानक प्त््येक व््यश्क्त समेान दूरी को पूरे चरर्ों 
मेें त्य कर सक?े                                              

UPSC PT 2011  
(a) 25 m 20 cm      
(b) 50 m 40 cm           
(c) 75 m 60 cm        
(d) 100 m 80 cm

Q 51. एक संख््या इस प्कार है नजसे 4,5,6 ्या 7 से नवभानजत 
करने पर क्रमेशः 2,3,4 ्या 5 शेष बचता है। 4000 से 
नीचे की सबसे बड़ी संख््या कौन सी है जो इस गुर् को 
संतुष्ि करती है?

(a) 3358                  
(b) 3988                       
(c) 3778                   
(d) 2938

Q 52. जोसेफ प्त््येक 5वें नदन क्लब जाता ह,ै हष्ग प्त््येक 24वें 
नदन क्लब जाता ह;ै जबनक सुनमेत प्त््येक 9वें नदन आता 
है। ्यनद व ेतीनों रनववार को क्लब मेें नमेल,े तो व ेतीनों 
पुनः नकस नदन नमेलेंग?े                          

UPSC PT 2021                                                   

(a) सोमियार  
(b) बुर्ियार  
(c) बृहस्पवतियार   
(d) रविियार 

Q 50. Three persons start walking together and 
their steps measure 40 cm, 42 cm and 45 cm 
respectively. What is the minimum distance 
each should walk so that each can cover the 
same distance in complete steps? 

UPSC PT 2011 
(a) 25 m 20 cm 
(b) 50 m 40 cm 
(c) 75 m 60 cm 
(d) 100 m 80 cm 

Q 51. A number is such that when divided by 
4,5,6 or 7 it leaves the remainder 2,3,4 or 
5 respectively. Which is the largest 
number below 4000 that satisfies this 
property? 

(a) 3358 
(b) 3988 
(c) 3778 
(d) 2938 

Q 52. Joseph visits the club on every 5th day, 
Harsh visits on every 24th day, while Sumit 
visits on every 9th day. If all three of them 
met at the club on a Sunday, then on which 
day will all three of them meet again? 

UPSC PT 2021 
(a) Monday 
(b) Wednesday 
(c) Thursday 
(d) Sunday 
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Q 53. एक पहचान पत्र मेें संख््या ABCDEFG होती है, 
आवश््यक नहीं नक उसी क्रमे मेें हो, जहां प्त््येक 
अक्षर एक अलग अंक (केवल 1, 2, 4, 5, 7, 8, 
9) को ननरूनपत करता है। संख््या 9 से नवभाज््य है। 
दाईं ओर से पहला अंक हिाने क  े बाद, पररर्ामेी 
संख््या 6 से नवभाज््य है। मेूल संख््या क  ेदाईं ओर से 
दो अंक हिाने क  े बाद, पररर्ामेी संख््या 5 से 
नवभाज््य है। मेूल संख््या क  ेदाईं ओर से दाईं ओर से 
तीन अंक हिाने क  े बाद पररर्ामेी संख््या 4 से 
नवभाज््य है।  मेूल संख््या क  े दाईं ओर से चार अंक 
हिाने क  ेबाद, पररर्ामेी संख््या 3 से नवभाज््य होती 
है। मेूल संख््या क  े दाईं ओर से पांच अंक हिाने क  े
बाद, पररर्ामेी संख््या 2 से नवभाज््य होती है। 
ननम्ननलनित मेें से कौन-सी संख््या क  े मेध््य तीन 
अंकों क  े्योग क  ेनलए संभानवत मेान है|      

UPSC PT 2022

(a) 8
(b) 9
(c) 11
(d) 12

Q 54. 1 से 9 तक क े अंकों को तीन पंश्क्त्यों मेें इस प्कार 
व््यवश्स््थत नक्या ग्या है नक प्त््येक पंश्क्त मेें तीन अंक 
हों, और दूसरी पंश्क्त मेें बनी संख््या पहली पंश्क्त मेें 
बनी संख््या से दोगुनी हो; और तीसरी पंश्क्त मेें बनी 
संख््या पहली पंश्क्त मेें बनी संख््या से तीन गुना है। 
अंकों की पुनरावृनति की अनुमेनत नहीं है। ्यनद पहली 
पंश्क्त मेें चार अंकों 2, 3, 7 और 9 मेें से केवल तीन 
का उप्योग करने की अनुमेनत है, तो तीन पंश्क्त्यों मेें 
ऐसे नकतने सं्योजनों को व््यवश्स््थत करना संभव है? 

UPSC PT 2022

(a) 4
(b) 3
(c) 2
(d) 1

Q 53. An Identity Card has the number ABCDEFG, 
not necessarily in that order, where each letter 
represents a distinct digit (1, 2, 4, 5, 7, 8, 9 only). 
The number is divisible by 9. After Deleting the 
first digit from the right,the resulting number is 
divisible by 6. After deleting two digits from the 
right of the original number, the resulting 
number is divisible by 5. After deleting three 
digits from the right of original number,the 
resulting number is divisible by 4. After deleting 
four digits from the right of original number, 
the resulting number is divisible by 3. After 
deleting five digits from the right of the original 
number,the resulting number is divisible by 2. 
Which of the following is a possible value for the 
sum of the middle three digits of the number.  

UPSC PT 2022 
(a) 8 
(b) 9 
(c) 11 
(d) 12 

Q 54. The digits 1 to 9 are arranged in three rows in 
such a way that each row contains three 
digits, and the number formed in the second 
row is twice the number formed in the first 
row; and the number formed in the third row 
is thrice the number formed in the first row. 
Repetition of digits is not allowed. If only 
three of the four digits 2, 3, 7 and 9 are allowed 
to be used in the first row, how many such 
combinations are possible to be arranged in 
the three rows?  UPSC PT 2022 

(a) 4 
(b) 3 
(c) 2
(d) 1 

https://khanglobalstudies.com/


UPSC CSAT www.khanglobalstudies.com

14 NUMBER SYSTEM

Q 55. एक न््यूमेेररक लॉक है नजसमेें 3 अंकों का नपन है। 
नपन मेें 1 से 7 तक क  े अंक हैं। अंकों की कोई 
पुनरावृनति नहीं होती है। नपन मेें अंक बाएं से दाए ं
घिते क्रमे मेें हैं। नपन मेें नकन्हीं दो अंकों मेें कमे से 
कमे 2 का अंतर होता है। ननश्श्चत रूप से नपन का 
पता लगाने क  े नलए नकसी को अनधकतमे नकतन े
प््यासों की आवश््यकता होगी? UPSC PT 2022

(a)  6
(b)  8
(c) 10
(d) 12

Q 56. शेषफल क््या ह ैजब 

91x 92 x 93 x 94 x 95 x 96 x 97 × 98 x 99 को 
1261 स ेनवभानजत नक्या जाता ह?ै  

UPSC PT 2022
(a) 3
(b) 2
(c) 1
(d) 0

Q 57. 1000 स ेबड़ी वह सबस ेछोिी संख््या कौन सी ह ैनजस े
6, 9, 12, 15, 18 मेें स ेनकसी भी संख््या से नवभानजत 
करन ेपर 3 शेष बचता ह?ै                                      

UPSC PT 2022
(a) 1063
(b) 1073
(c) 1083
(d) 1183

Q 58. मेान लीनजए p दो-अंको की एक संख््या ह ैऔर q नवपरीत 
क्रमे मेें नलिी गई समेान अंकों वाली संख््या है। ्यनद 
pxq=2430, तो p और q क ेबीच क््या अंतर ह?ै 

UPSC PT 2022
(a) 45
(b) 27
(c) 18
(d) 9

Q 55. There is a numeric lock which has a 
3-digit PIN. The PIN contains digits 1 to 
7. There is no repetition of digits. The 
digits in the PIN from left to right are in 
decreasing order. Any two digits in the 
PIN differ by at least 2. How many 
maximum attempts does one need to find 
out the PIN with certainty?  UPSC PT 2022 
(a) 6 
(b) 8 
(c) 10 
(d) 12 

Q 56. What is the remainder when 

91x 92 x 93 x 94 x 95 x 96 x 97 × 98 x 99 is 
divided by 1261? 

UPSC PT 2022 
(a) 3 
(b) 2 
(c) 1 
(d) 0 

Q 57. What is the smallest number greater than 1000 
that when divided by any one of the numbers 6, 
9, 12, 15, 18 leaves a remainder of 3? 

UPSC PT 2022 
(a) 1063 
(b) 1073 
(c) 1083 
(d) 1183 

Q 58. Let p be a two-digit number and q be the 
number consisting of same digits written in 
reverse order. If pxq=2430, then what is the 
difference between p and q?  UPSC PT 2022 

(a) 45
(b) 27 
(c) 18 
(d) 9 
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Q 59. दो प्ाकृनतक संख््याओं p और q क ेसंबंध मेें ननम्ननलनित 
क्थनों पर नवचार कीनजए जैस ेनक p एक अभाज््य संख््या 
ह ैऔर q एक भाज््य संख््या ह:ै 

1. pxq एक विषम संख््यया हो सकती है। 
2. q/p एक अभयाज््य संख््यया हो सकती है। 
3. p+q एक अभयाज््य संख््यया हो सकती है।

उपरोक्त मेें से कौन सा क्थन सही ह?ै   
UPSC PT 2022

(a) केिल 1 और 2
(b) केिल 2 और 3 
(c) केिल 1 और 3 
(d) 1, 2 और 3

Q 60. शेषफल नकतना होगा, जब 

85 × 87 × 89 × 91 × 95 × 96 को 100 स ेनवभानजत 
नक्या जाता ह?ै          UPSC PT 2023

(a) 0
(b) 1
(c) 2
(d) 4

Q 61. व््यंजक (57242)9×7×5…3×1 मेें इकाई  अंक 
क््या  है? UPSC PT 2023

(a) 2
(b) 4
(c) 6
(d) 8

Q 62. ्यनद ABC और DEF दोनों 3-अकंी्य सखं््याए ँइस प्कार 
हैं नक A, B, C, D, E और F अलग-अलग गरै-शनू््य अकं 
हैं, नद्या ग्या ह ैनक ABC + DEF = 1111, तो A +B+ C 
+ D + E+ F का मेान क््या ह?ै  UPSC PT 2023

(a) 28
(b) 29
(c) 30
(d) 31

Q 59. Consider the following statements in respect 
of two natural numbers p and q such that p is 
a prime number and q is a composite number  

1. pxq can be an odd number, 
2. q/p can be a prime number. 
3. p+q can be a prime number. 

Which of the above statements are correct? 
UPSC PT 2022 

(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

Q 60. What is the remainder when 

85 × 87 × 89 × 91 × 95 × 96 is divided by 
100?           UPSC PT 2023 

(a) 0 
(b) 1 
(c) 2 
(d) 4 

Q 61. What is the unit digit in the expansion of 
(57242) 9×7×5×3×1 ?  UPSC PT 2023 

(a) 2 
(b) 4
(c) 6 
(d) 8 

Q 62. If ABC and DEF are both 3-digit numbers such 
that A, B, C, D, E and F are distinct non-zero 
digits such that ABC + DEF = 1111, then what is 
the value of A +B+ C + D + E+ F?  UPSC PT 2023 

(a) 28 
(b) 29 
(c) 30 
(d) 31 
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Q 63. D एक तीन अंकों की संख््या इस प्कार ह,ै नक संख््या का 
उसक ेअंकों क े्योग स ेअनुपात न््यूनतमे होता है। सैकड़ा 
क ेस््थान पर अंक और इकाई क ेस््थान पर D क ेअंक क े
बीच अंतर नकतना ह?ै                                   

UPSC PT 2023
(a) 0
(b) 7
(c) 8
(d) 9

Q 64. पांच धनात्मेक पूर्ाांक p, q, r, s, t मेें से तीन समे हैं और 
उनमेें स ेदो नवषमे हैं (जरूरी नहीं नक इसी क्रमे मेें हों)। 
ननम्न पर नवचार कीनजए: 

1. p+ q + r-s-t वनोश््चचत रूप स ेसम संख््यया है। 
2. 2p + q + 2r - 2s + t वनोश््चचत विषम संख््यया है। 

उपरोक्त मेें से कौन सा/से क्थन सही ह/ैहैं? 

UPSC PT 2023
(a) केिल 1 
(b) केिल 2 
(c) 1 और 2 दोनोों 
(d) नो तो 1 और नो ही 2

Q 65. अभाज््य संख््या p और भाज््य संख््या c क े संबंध मेें 
ननम्ननलनित पर नवचार कीनजए। 

1. (p+c)/(p-c) सम संख््यया हो सकती हैं। 
2. 2p + c विषम संख््यया हो सकती हैं। 
3. pc विषम संख््यया हो सकती है। 

ऊपर नदए गए क्थनों मेें स ेकौन-सा/स ेसही ह?ै 

UPSC PT 2023
(a) केिल 1 और 2 
(b) केिल 2 और 3 
(c) केिल 1 और 3 
(d) केिल 1, 2 और 3

Q 63. D is a 3-digit number such that the ratio of 
the number to the sum of its digits is least. 
What is the difference between the digit at 
the hundred’s place and the digit at the unit’s 
place of D? UPSC PT 2023 

(a) 0 
(b) 7 
(c) 8 
(d) 9 

Q 64. Three of the five positive integers p, q, r, s, t 
are even and two of them are odd (not 
necessarily in order). Consider the following: 

1. p+ q + r-s-t is definitely even. 
2. 2p + q + 2r - 2s + t is definitely odd

Which of the above statements is/are 
correct?          UPSC PT 2023 

(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) Neither 1 nor 2 

Q 65. Consider the following in respect of 
prime number p and composite number c.

1. (p+ c) / (p- c) can be even. 
2. 2p + c can be od
3. pc can be od

Which of the statements given above are 
correct?         UPSC PT 2023 

(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 
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Q 66. एक 3-अंकी्य संख््या ABC को D स े गुर्ा करन े पर 
37DD प्ाप्त होता ह ै जहा ँ A, B, C और D अलग-
अलग गैर-शून््य अंक हैं। A+B+C का मेान क््या ह?ै

UPSC PT 2023
(a) 18
(b) 16
(c) 15
(d) अप्यया्णप्त डेटया के कयारर् वनोर्या्णररत नोहीं वक्यया जया सकतया  

Q 67. X, Y और Z क े मेानों क े नकसी भी नवकल्प क े नलए, 
XYZXYZ क े रूप की 6-अंकी्य संख््या नकसस े
नवभाज््य ह?ै UPSC PT 2023

(a) केिल 7 और 11
(b) केिल 11 और 13 
(c) केिल 7 और 13 
(d) 7, 11 and 13

Q 68. मेान लीनजए x एक धनात्मेक पूर्ाांक ह ैऔर 7x + 96, x 
से नवभाज््य है। x क ेनकतन ेमेान संभव हैं?

UPSC PT 2023
(a) 10
(b) 11
(c) 12
(d) अनोंत रूप स ेकई 

Q 69. ्यनद p, q, r और s अलग-अलग एकल अंकी्य 
धनात्मेक संख््याए ँहैं, तो (p + q)(r + s) का सबस ेबड़ा 
मेान क््या ह?ै UPSC PT 2023

(a) 230
(b) 225
(c) 224
(d) 221

Q 70. 9 को 99 बार नलिने पर एक संख््या N बनती है। 
्यनद N को 13 से नवभानजत नक्या जाए तो शेषफल 
नकतना होगा? UPSC PT 2023

(a) 11
(b) 9
(c) 7
(d) 1

Q 66. A 3-digit number ABC, on multiplication 
with D gives 37DD where A, B, C and D are 
different non-zero digits. What is the value of 
A +B + C?  UPSC PT 2023 

(a) 18 
(b) 16 
(c) 15 
(d) Cannot be determined due to insufficient data 

Q 67. For any choices of values of X, Y and Z, 
the 6-digit number of the form XYZXYZ 
is divisible by:  UPSC PT 2023 

(a) 7 and 11 only 
(b) 11 and 13 only 
(c) 7 and 13 only 
(d) 7, 11 and 13 

Q 68. Let x be a positive integer such that 7x + 
96 is divisible by x. How many values of x 
are possible?  UPSC PT 2023 

(a) 10 
(b) 11
(c) 12 
(d) Infinitely many 

Q 69. If p, q, r and s are distinct single digit 
positive numbers, then what is the greatest 
value of (p + q)(r + s)?  UPSC PT 2023 

(a) 230 
(b) 225 
(c) 224 
(d) 221 

Q 70. A number N is formed by writing 9 for 99 
times. What is the remainder if N is divided 
by 13?  UPSC PT 2023 

(a) 11 
(b) 9 
(c) 7 
(d) 1 
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Q 71. 9 अंकों की संख््या का प्त््येक अंक 1 है। इसे स्व्यं से 
गुर्ा नक्या जाता है। पररर्ामेी संख््या क े अंकों का 
्योग क््या है? UPSC PT 2023

(a) 64
(b) 80
(c) 81
(d) 100

Q 72. 10 से 100 तक सभी पूर्ाांकों मेें आन ेवाल ेसभी अंकों 
का ्योग नकतना ह?ै UPSC PT 2023

(a) 855
(b) 856
(c) 910
(d) 911

Q 73. नकसी नडब्ब ेमेें 14 काली गेंदें, 20 नीली गेंदें, 26 हरी गेंदें, 
28 पीली गेंदें, 38 लाल गेंदें और 54 सफेद गेंदें हैं। 

ननम्ननलनित क्थनों पर नवचार कीनजए:

1. ्यवद वडब्ब ेमें स े्ययादशृ््छछिक रूप स ेकोई सी n गेंद ेइस प्कयार 
वनोकयाली जयाए ँवक उनोमें कम स ेकम एक रगं कया एक परूया 
समहू अि्च्य हो, तो n की लघतुम सखं््यया 175 ह।ै 

2. ्यवद वडब्ब े स े ्ययादृश््छछिक रूप स े कोई सी m गेंद े इस 
प्कयार वनोकयाली जयाए ँवक उनोमें हर रंग की कम-स-ेकम 
एक गेंद अि्च्य हो, तो m की लघुतम संख््यया 167 है।   

उप्यु्गक्त क्थनों मेें स ेकौन-सा/से सही ह/ैहैं?  

UPSC PT 2023
(a) केिल 1 
(b) केिल 2 
(c) 1 और 2 दोनोों
(d) नो तो 1 और नो ही 2

Q 74. ऐस े नकतन े प्ाकृनतक संख््याए ँ हैं नजनस े 1186 को 
नवभानजत करन ेपर शेषफल 31 आता ह?ै 

UPSC PT 2023
(a) 6
(b) 7
(c) 8
(d) 9

Q 71. Each digit of a 9-digit number is 1. It is 
multiplied by itself. What is the sum of the 
digits of the resulting number?  UPSC PT 2023 

(a) 64 
(b) 80 
(c) 81 
(d) 100 

Q 72. What is the sum of all digits which appear in 
all the integers from 10 to 100?  UPSC PT 2023 

(a) 855 
(b) 856 
(c) 910 
(d) 911

Q 73. A box contains 14 black balls, 20 blue balls, 26 
green balls, 28 yellow balls, 38 red balls and 54 
white balls. 
Consider the following statements: 

1. The smallest number n such that any n balls 
drawn from the box randomly must contain 
one full group of at least one colour is 175. 

2. The smallest number m such that any m balls 
drawn from the box randomly must contain 
at least one ball of each colour is 167. 

Which of the above statements is/are correct? 

UPSC PT 2023 
(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) Neither 1 nor 2 

Q 74. How many natural numbers are there which 
give a remainder of 31 when 1186 is divided 
by these natural numbers? UPSC PT 2023 

(a) 6 
(b) 7 
(c) 8 
(d) 9 
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Q 75. मेान लीनजए, pp, qq और rr, 2-अकंों की सखं््याए ंहैं जहाँ 
p < q < r ह।ै ्यनद pp + qq + rr = tt0, जहा ँtt0 कोई  
3-अंकों की सखं््या ह,ै नजसका अनंतमे अकं शनू््य ह,ै तो 
ननम्ननलनित क्थनों पर नवचार कीनजए:  UPSC PT 2023

1. p के संभि मयानोों की संख््यया 5 है।
2. q के संभि मयानोों की संख््यया 6 है।

उप्यु्गक्त मेें से कौन-सा/से क्थन सही है/हैं?        

(a) केिल 1 
(b) केिल 2 
(c) 1 और 2 दोनोों
(d) नो तो 1 और नो ही 2

Q 76. ्यनद आज रनववार है, तो …10…10 नदनों के बाद कौन-सा 
नदन होगा?  UPSC PT 2023

(a) बुर्ियार 
(b) बृहस्पवतियार 
(c) शुक्रियार 
(d) शवनोियार 

Q 77. तीन ट् रैनफक नसग्नल्स ह ैं। प्त््येक नसग्नल का रंग 
हरे  से  लाल और नफर लाल से हरा बदलता है। हरे 
से  लाल रंग बदलने मे ें पहले नसग्नल को 25 
सेकंड, दूसरे  नसग्नल को 39 सेकंड और तीसरे 
नसग्नल को 60 सेकंड लगते ह ैं। हरे  व लाल रंगों 
की अवनध्याँ  समेान है। 2:00 बजे अपराह्न को, 
वे  एकसा्थ हरे  हो जाते  ह ैं। अगली बार नकस 
समे्य पर वे  एकसा्थ हरे  होंगे? 

UPSC PT 2023

(a) 4:00 बजे अपरयाह्न 
(b) 4:10 बजे अपरयाह्न
(c) 4:20 बजे अपरयाह्न
(d) 4:30 बजे अपरयाह्न

Q 75. Let pp, qq and rr be 2-digit numbers where 
p < q < r. If pp + qq + rr = tt0, where tt0 is a 
3-digit number ending with zero, consider 
the following statements:  UPSC PT 2023

1. The number of possible values of p is 5. 
2. The number of possible values of q is 6. 

Which of the above statements is/are correct? 

(a) 1 only 
(b) 2 only 
(c) Both 1 and 2
(d) Neither 1 nor 2 

Q 76. If today is Sunday, then which day is it 
exactly on 1010th day?   UPSC PT 2023 

(a) Wednesday 
(b) Thursday 
(c) Friday 
(d) Saturday 

Q 77. There are three traffic signals. Each signal 
changes colour from green to red and then from 
red to green. The first signal takes 25 seconds, 
the second signal takes 39 seconds and the third 
signal takes 60 seconds to change the colour 
from green to red. The durations for green and 
red colours are the same. At 2:00 p.m, they turn 
green together. At what time will they change to 
green next, simultaneously?  UPSC PT 2023 

(a) 4:00 p.m. 
(b) 4:10 p.m. 
(c) 4:20 p.m. 
(d) 4:30 p.m. 
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Q 78. 40 बचे्च वतृाकार रूप मेें िड़़े हैं और उनमेें से एक (मेान 
लीनजए, बच्चा क्रमेाकं-1) के पास एक छल्ला है। इस छल्ले 
को दनक्षर्ावत्ग नदशा मेें आग ेहस्तातंररत (पास) नक्या जाता ह।ै 
बच्चा क्रमेांक-1 इस छल्ले को बच्चा क्रमेांक-2 को पास 
करता ह,ै बच्चा क्रमेाकं-2 इस ेबच्चा क्रमेाकं-4 को पास करता 
ह,ै बच्चा क्रमेाकं-4 इस ेबच्चा क्रमेाकं-7 को पास करता ह ैऔर 
इसी क्रमे मेें इस आग ेपास नक्या जाता ह।ै ऐस ेनकतन ेपररवत्गनों 
(बच्चा क्रमेाकं-1 को नमेलाकर) के बाद ्यह छल्ला नफर से 
बच्चा क्रमेाकं-1 के हा्थों मेें होगा?     UPSC PT 2023
(a) 14
(b) 15
(c) 16
(d) 17

Q 79. अनुक्रमेांक का मेध््य पद क््या है? 

Z, Z, Y, Y, Y, X, X, X, X, W, W, W, W, W, ..A   
UPSC PT 2023

(a) H
(b) I
(c) J
(d) M

Q 80. प्श्न: क््या p बड़ा है q से?  UPSC PT 2023

कथनो-1: p × q बड़या है शून््य से।
कथनो-2: p2 बड़या है q2 से?.

उप्यु्गक्त प्श्न और क्थनों के बारे मेें ननम्ननलनित मेें से 
कौन-सा एक सही है?  

(a) इस प्श्न कया उत्तर, दोनोों में से वकसी एक कथनो कया 
अकेले उप्योग कर वद्यया जया सकतया है, वकन्तु दूसरे 
कथनो कया अकेले उप्योग कर नोहीं वद्यया जया सकतया है। 

(b) इस प्श्न कया उत्तर, दोनोों में से वकसी भी एक कथनो कया 
अकेले उप्योग कर वद्यया जया सकतया है। 

(c) इस प्श्न कया उत्तर, दोनोों कथनोों कया एक सयाथ उप्योग 
कर वद्यया जया सकतया है, वकन्तु दोनोों में से वकसी एक 
कथनो कया अकेले उप्योग कर नोहीं वद्यया जया सकतया है। 

(d) इस प्श्न कया उत्तर, दोनोों कथनोों कया एकसयाथ उप्योग 
करके भी नोहीं वद्यया जया सकतया है। 

Q 78. 40 children are standing in a circle and 
one of them (say child-1) has a ring. The 
ring is passed clockwise. Child-1 passes 
on to child-2, child-2 passes on to child-4, 
child-4 passes on to child-7 and so on. 
After how many such changes (including 
child-1) will the ring be in the hands of 
child-1 again?  UPSC PT 2023 

(a) 14 
(b) 15 
(c) 16 
(d) 17 

Q 79. What is the middle term of the sequence

Z, Z, Y, Y, Y, X, X, X, X, W, W, W, W, W, ..A? 
UPSC PT 2023 

(a) H 
(b) I 
(c) J 
(d) M 

Q 80. Question: Is p greater than q?  UPSC PT 2023 

Statement-1: p × q is greater than zero. 
Statement-2: p2 is greater than q2?

Which one of the following is correct in respect 
of the above Question and the Statements? 

(a) The Question can be answered by using 
one of the Statements alone, but cannot be 
answered using the other Statement alone. 

(b) The Question can be answered by using 
either Statement alone. 

(c) The Question can be answered by using 
both the Statements together, but cannot 
be answered using either Statement alone. 

(d) The Question cannot be answered even 
by using both the Statements together. 
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Q 81. प्श्न : क््या (p + q - r) बड़ा है (p - q + r) से, जहाँ p, 
q और r पूर्ाांक है? UPSC PT 2023

कथनो-1: (p - q) र्नोयात्मक है।
कथनो-2: (p - r) ऋर्यात्मक है। 

उप्यु्गक्त प्श्न और क्थनों का के बारे मेें ननम्ननलनित मेें 
से कौन-सा एक सही है?   

(a) इस प्श्न कया उत्तर, दोनोों में से वकसी एक कथनो कया 
अकेले उप्योग कर वद्यया जया सकतया है, वकन्तु दूसरे 
कथनो कया अकेले उप्योग कर नोहीं वद्यया जया सकतया है। 

(b) इस प्श्न कया उत्तर, दोनोों में से वकसी भी एक कथनो कया 
अकेले उप्योग कर वद्यया जया सकतया है। 

(c) इस प्श्न कया उत्तर, दोनोों कथनोों कया एक सयाथ उप्योग 
कर वद्यया जया सकतया है, वकन्तु दोनोों में से वकसी एक 
कथनो कया अकेले उप्योग कर नोहीं वद्यया जया सकतया है। 

(d) इस प्श्न कया उत्तर, दोनोों कथनोों कया एकसयाथ उप्योग 
करके भी नोहीं वद्यया जया सकतया है।

Q 82. 3-अंकों की एक सखं््या पर नवचार कीनजए। UPSC PT 2023

प्श्न: वह संख््या क््या है? 

कथनो-1: उस संख््यया के अंकों कया ्योगफल अंकों के गुर्नोफल 
के बरयाबर है। 
कथनो-2: िह संख््यया, उस संख््यया के अंकों के ्योगफल से 
विभयाज््य है। 

उप्यु्गक्त प्श्न और क्थनों के बारे मेें ननम्ननलनित मेें से 
कौन-सा एक सही है?  

(a) इस प्श्न कया उत्तर, दोनोों में से वकसी एक कथनो कया 
अकेले उप्योग कर वद्यया जया सकतया है, वकन्तु दूसरे 
कथनो कया अकेले उप्योग कर नोहीं वद्यया जया सकतया है। 

(b) इस प्श्न कया उत्तर, दोनोों में से वकसी भी एक कथनो कया 
अकेले उप्योग कर वद्यया जया सकतया है। 

(c) इस प्श्न कया उत्तर, दोनोों कथनोों कया एक सयाथ उप्योग 
कर वद्यया जया सकतया है, वकन्तु दोनोों में से वकसी एक 
कथनो कया अकेले उप्योग कर नोहीं वद्यया जया सकतया है। 

(d) इस प्श्न कया उत्तर, दोनोों कथनोों कया एकसयाथ उप्योग 
करके भी नोहीं वद्यया जया सकतया है।

Q 81. Question : Is (p + q - r) greater than (p - q + r), 
where p, q and r are integers?  UPSC PT 2023 

Statement-1: (p - q) is positive. 
Statement-2: (p - r) is negative. 

Which one of the following is correct in respect 
of the above Question and the Statements? 

(a) The Question can be answered by using 
one of the Statements alone, but cannot be 
answered using the other Statement alone. 

(b) The Question can be answered by using 
either Statement alone. 

(c) The Question can be answered by using 
both the Statements together, but cannot 
be answered using either Statement alone. 

(d) The Question cannot be answered even 
by using both the Statements together. 

Q 82. Consider a 3-digit number.  UPSC PT 2023 

Question: What is the number? 

Statement-1: The sum of the digits of the 
number is equal to the product of the digits. 
Statement-2: The number is divisible by the 
sum of the digits of the number. 

Which one of the following is correct in respect 
of the above Question and the Statements? 

(a) The Question can be answered by using 
one of the Statements alone, but cannot be 
answered using the other Statement alone. 

(b) The Question can be answered by using 
either Statement alone. 

(c) The Question can be answered by using 
both the Statements together, but cannot 
be answered using either Statement alone. 

(d) The Question cannot be answered even 
by using both the Statements together. 

https://khanglobalstudies.com/


UPSC CSAT www.khanglobalstudies.com

22 NUMBER SYSTEM

Q 83. शषेफल क््या ह ै्यनद 2192 को 6 स ेनवभानजत नक्या जाता है?  

UPSC PT 2023    
(a) a. 0
(b) b. 1
(c) c. 2
(d) d. 4

Q 84. AB और CD 2-अंकों वाली संख््याएँ है। AB को CD 
से गुर्ा करने पर गुर्नफल 3-अंको की संख््या DEF 
प्ाप्त होती है। DEF को अन््य 3-अंको की संख््या GHI 
से जोड़ने पर 975 प्ाप्त होती है। सा्थ ही  A, B, C, D, 
E, F, G, H, I नभन्न अंक हैं। ्यनद E = 0, F = 8, तो A 
+ B + C नकसके बराबर है? UPSC PT 2023

(a) 6
(b) 7
(c) 8
(d) 9

Q 83. What is the remainder if 2192 is divided by 6?

UPSC PT 2023  
(a) 0 
(b) 1 
(c) 2 
(d) 4 

Q 84. AB and CD are 2-digit numbers. Multiplying 
AB with CD results in a 3-digit number DEF. 
Adding DEF to another 3-digit number GHI 
results in 975. Further A, B, C, D, E, F, G, H, I 
are distinct digits. If E = 0, F = 8, then what is A 
+ B + C equal to ?  UPSC PT 2023 

(a) 6 
(b) 7 
(c) 8 
(d) 9
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